CLASS 8 MID TERM 2 OCTOBER 2020

MATHEMATICS

1. /Whatis sixty million four hundred thousand five -

hundred and two written in symbols ?
A. 60 004502

B. 80040502

C. 60400052

D. 60400502

. 2. Inthe number 7040205, thé total value of digit
. 4 is added to the total value of digit 2. Which
one of the following is the correct answer ?
A 4200 B. 40200
C. 4020 D. 420

3. Whatis the difference between the L.C.M and
the H.C.F of the numbers 24,36 and 72 ?
A 12 B. 72
C. 60 7 D. 84

4. Hoseéa stayed with his aunt from 15t
 December 2015 to 15" March 2016.For how
many days did he stay there ?

A. 80 " B.91
. C.92 _D.93
8. Whatis the value.of
(165805 - 1400 - 1325 + 1125)+ 5
A. 15205 . B.3571
€. 32 T D. 3041

6. Whatis the squarercot of the number obtained
when 4096 is divided by 4 7 :
A. 82 B. 1024 .
C.64 g © ¥ D.16 i

7. Whatis the fext rumber.in the pattern
8,14,21,32,45, __ 7 i

A. 80 B.62

"C. 81 Z D. 51

8. A26seater minibus and a 14 seater matatu §
. -~ weretotransport 506 pupils to an agricultural |

show. If tHe minibus made an extra trip than the
matatu, how many pupils did the minibus

transport ?
A 312 B. 168
C. 182 - D.338

9. Whatis 2804993 rounded off to the nearest

ten thousandg 7 e
A. 2810000 © B. 2800000
C. 2805000 D. 2804000

10.  Whatis the value of ’
23 M 2+ 7
A. 279, B.1%,
C.y, D.2¢,
1. Inthe year 2018, there were 240 boys and 360

12.

13.

14.

15.

. girls in Furaha Acadegmy. The following year,

the number of boys increased by 25% while

~ , that of girls decreased by 25%. How many
~ pupils were in the school that year ?

A 150 . B. 600
C.630 D. 570

What is 468. 3998 rounded off to the nearest
thousandths ? ‘
A. 468. 400

B.468.4

C. 468. 399

D. 468. 4000

Wheat s the place value of digit 5 in

16. 432+ 87
A. Tenths - B.Hundreds
_ C. Hundredths D. Thousandths’

What s the value of

4.5-24x0.6+2. 94
24+04

O P

.0.02 B. 0.54
.0.7 D. 1.0

What is the value of

\ 0. 0625 - 0.0049

©0.04

A.0.9 B.1.2
C.8 D. 1.44
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16. Kilimo gave 0.3 of his land to his oldest son, | 49,

0.25 to the second born and 0.21 to his.
daughter .if he had 4.5 hectares of land, how
“many hectares was he left with ? )
A.3.74 B.GC.72

C.3.42 4 . D.1.08

17.  Inthe figure below, AB is paralleito CD

20.
‘A -
Which one of the following statements 1z true?
AX®+ 204 y° = 180° a
B.wW° tx°+y°=180° \
C.x°+z°+v°=180° \
D.w* +x" +v° =180° : -2,
18. In the’ﬁgure below , ADE and ABC are straight
lines. Line AB= BD = BC and angle BCD = 40°.
22,
23,

 Whatis the size of angle CDE?
A 50° B. 80°
C. 40° D 90°

Online EF drawn below construct triangle EFG

such that angle FEG = 30° and line EG = 10
cm. Bisect angle EFG and draw the bisector
tomeetEG atO .

T o

E

What s the size of angle GOFE ? N
A.95° B. 85°
C.57° o D.43° .-

Which of the following statements is true about
atrapezium ? ;

A.Allangles are equal =

B. Diagonals bisect each other atrightangles
C. Opposite sides are equal

D. Has one'set of parallel sides

Aplot of land is in the shape of a right angied
triangle. The length of the longest side measures
30 metres while one of the shortest side
measures 18 metres. What is the area of the
plot in square metres 7
‘A. 270 B. 2186
C. 432 D. 380

Wario spent %, of his money on food, '/, on
school fees , ¥/, of the remainder on rent and
saved the rest. What total fraction of his money
did he save and spent on food ?

Tl B.",

. ~ D.e,

Which one of the expressions below is the
simplest form of ‘

6(x+3y)-2x
4(2x+y)+4x

A 2x+ 9y B. x+9y
- Bx + 2y 3x + 2y
C. 4x+ 18y . D.4x+3y
‘12x+4y; 12x+y
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24.  Whatis the vaiue of

25.

26. -

27.

- 28,

The figuge below is a rectangle

2p-g+r

0

Wherer=5,n=2r,p=r+9andq=p-6?
A1, B.
C. 7

What is the value of n in the equation?

15

D.27,

2n- 3+2n=5
3

A 27, B. 1

C.1y, D.2

Ali bought 2n apples while Mulwa bought 4r
apples. Halima bought 2 more apples than a
half of total number of apples bought by both
Ali and. iylwa. How many apples did they buy
altogether ?
A 3n+6r+2
C.6+12r+2

B.4n+8r+2
D.3n+6r-2

(y+5)em

# -+

~ 3y-1lcm

What is the perimeter of the rectangie ?
A.22 cm ' B.28cm
C-44cm D.14cm

A circular flower garden was fenced by three
equal strands of wire whose total length was
396 m. What was the radius of the plot ?

( Take m =22/ ) :

A 126 m -
C.42m

'B. 63 m
D._21 m

29,

30.

31.

The diagram below represents Owiri's plot of

land . He put a fence around it. How many posts
did he use if the spacing between the posts
was 2.5 metres ?
50m
;‘.
100m

‘AL 120 B. 121

C.60 D. 300

Arectangle 25 cm long and 24 cm wide has
the same area as a triangle whose height is
20 cm. What is the length of the base of the
triangle? » ’

A. 15 cm B. 30 cm

C.60cm D.300cm

Calculate the area of the shaded region inthe

-figure below ( Take n =2 )

32.

31cm
A.122. 5cm? B.45. 5cm?
C. 141. 75 cm? D. 103.25 cm?
A vegetable garden is made up of a square of
length 15 m and four semicircles each of
diameter 4.2 m. What is the area of the garden
in square metres ?( Take = =2/}
AB9.6
B.252.72
C.225
D. 335. 88
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%3,

38.

36.

Afarmer harvested 240 bags of wheat in one

season . In the second season the yield
decreased in the ratio 3 : 4 .The farmer
supplied ali the bags harvested in ihe second
season equally to four millers . How many bags
of wheat did each milier get ? :

A 180 B. 45 /
C.80 D. 80

Eight men working at the same rate can unload
alorry in 3 hours .If 2 of the men are absent
how many more hours will the urtloading take ?
A 21 B9
C. 4 0.1

The mean mass of four pupils was 48. 5 kg..
When the masses of another two gjupils were

included the mean mass became 53 kg. ifthe_
mass of the two pupils were equal, what was

the mass of each pupil ?

A. 80 kg B. 120 kg

C.82 kg D. 31kg

What is the surface area of 2 cylindrical rod of
neight 25 cm and diameteri4 cm. ;

{Take m =2}
A. 1100 cm? B, 3850 cm?
C. 1254 em? L. 1408 cm?

How many biocks are used to make the stack
drawn below ? :

g

| 38,

39,

41.

42.

~A.3080

40,

A school received 240 litres of milk packed

\ inte 5 decilire nackets . If the packets weire in

‘rates each holding 24 packets, how many
crates were received ?

A 20 B. 48

C.10 D2

Acylindrical solid of height 20 cm and diameter
14 em is cut into two equal parts along the

_,diaﬁﬁeter. What is the volume of each part in

cm® ( Take n = 27y
B. 440
C. 1540 D 385
Arectangular tank of height 2.0 m has a base
measuring 1.2 mby 2.5 m. After a day use the
level of water fell to 1.5 m, How'many litres of
water were used? '

A. 3800
C. 800

B. 2700
D. 4500

A pick- up whose mass is one tonne when
empty was loaded with 30 bags of rice each
weighing 50 kg and 6 bags of maize each
weighing QOJkg, What was the total mass in
tonnes of the loaded pick- up ?

A 204 B. 2.59

C.3.04 D.2.5

Ashopkeeper spent sh 860 to buy 24 cups and
then sold them making a profit of 25% .For how
much did the shopkeeper seli each cup ?

A. sh 30

B.sh 40

C.sh &0

D. sh 1200
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43.

45,

46.

47.

Muoki had money as follows: -
3 notes of sh 1000 '

5 notes of sh 500

15 notes of sh 200

- 12 notes of sh 100

71 notes of sh 50

~She changed all the money to five shilling coins.

How many five- shilling coins did she get ?
A 10250 B 370
C. 64950 D. 2050

The price of an item was reduced by sh 360.
This represents a 20% discount. What was the
price of the item before the discou nt?

A. sh450 B. sh 1440

C. sh 1800 D.sh 2160

Kirui baught a radio on hire purchase terms.
He paid a deposit of sh 3600 and eight equal
monthly instalments of sh 750 . The total amount
paid was 20% more than the cash price. What

. was the cash price of the radio?

A.sh 11520
C. sh 8000

'B.sh 7680
D. sh 9600

A business lady borrowed sh 30000 from a
lending institution at a simple interest rate of
2.5% per month. How much did she pay back
at the end of one year ? ‘f

A. sh 90000 B. sh 39000

C.sh 750 D. sh 30750

The pie- chart below shows the angles of
sectors representing the different type of fruits
sold by a vendor

Oranges
L

Mangoes .
()]

160°

_Avocadoes

If she sold 80 avocados, how marny more
mangoes than apples did she sell ?

A. 150 B. 200

C.50 D. 250

44. Onamap ofscale 1: 200004 rectangulaé plot

49,

50.

DISTANCE IN KILOMETRE

N
(=]

100

[ 2 o
[~ [~}

8

ofland ,measures 4 cm by 3 cm. What are the -
actual length of the plot in metres 7
- A 80000 by 60000
B. 800 by-6800
C.80by8s0
D.8by8

A matatu feft town K for town M a distance of
80 kilometres at 9. 30 am. For the first 50
minutes ittravelled at 66 km/h It travelied the
remaining distance at 50 km/h . At what time
did the matatu reach town M

A.10.10 am

B. 10.20 am

C.10.50 am

D.11.12am

The graph below shows part of Mukeku's 70
km journey . After the one- hour rest, he
continued at the same speed.

o’
1

o0 5 2y B

9am

.- 12noon
TIME

“10am 1iam 1pm 2pm

At what time did he complete the journey ?
A11.00am

B. 12, 30 pm

C.1.30 pm

D. 2. 30 pm
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